
UG000−7R

UG000−1A_1

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
KR 26s A
3 repeats

A1    A2    A3      ∆
0.029 1.006 0.48 0.004

UG000−2A_1

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
PO 26s A
3 repeats

A1    A2    A3      ∆
0.028 1.062 0.278 0.006

UG000−3A_1

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
BM 26s A
3 repeats

A1    A2    A3      ∆
0.047 0.939 0.29 0.005

UG000−4A_1

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s A
3 repeats

A1    A2    A3      ∆
0.041 0.909 0.317 0.008

UG000−5A_1

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
KR 26s Y
3 repeats

A1    A2    A3      ∆
0.112 0.684 0.303 0.01

UG000−6A_1

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s Y
3 repeats

A1    A2    A3      ∆
0.06 0.845 0.199 0.012

UG000−7A_1

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
PO 26s B
3 repeats

A1    A2    A3      ∆
0.022 1.114 0.339 0.002

UG000−8A_1

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s B
3 repeats

A1    A2    A3      ∆
0.009 1.459 0.419 0.001

UG001−1A_1

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
BM 26s R
3 repeats

A1    A2    A3      ∆
0.114 0.632 0.151 0.005

UG001−2A_1

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s R
3 repeats

A1    A2    A3      ∆
0.114 0.638 0.151 0.004

UG001−3A_1

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s G
3 repeats

A1    A2    A3      ∆
0.064 0.82 0.376 0.004

UG001−4A_1

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s A,Y
3 repeats

A1    A2    A3      ∆
0.041 0.909 0.317 0.008
0.06 0.845 0.199 0.012

UG001−5A_1

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s A,B
3 repeats

A1    A2    A3      ∆
0.041 0.909 0.317 0.008
0.009 1.459 0.419 0.001

UG001−6A_1

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s A,R
3 repeats

A1    A2    A3      ∆
0.041 0.909 0.317 0.008
0.114 0.638 0.151 0.004

UG001−7A_1

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s A,G
3 repeats

A1    A2    A3      ∆
0.041 0.909 0.317 0.008
0.064 0.82 0.376 0.004

UG001−8A_1

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
KR 26s A,Y
3 repeats

A1    A2    A3      ∆
0.029 1.006 0.48 0.004
0.112 0.684 0.303 0.01



UG000−7R

UG000−1A_2

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
KR 26s A
3 repeats

A1    A2    A3      ∆
0.024 1.026 0.077 0.005

UG000−2A_2

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
PO 26s A
3 repeats

A1    A2    A3      ∆
0.031 1.028 0.074 0.007

UG000−3A_2

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
BM 26s A
3 repeats

A1    A2    A3      ∆
0.037 1.069 0.05 0.009

UG000−4A_2

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s A
3 repeats

A1    A2    A3      ∆
0.039 1.003 0.066 0.007

UG000−5A_2

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
KR 26s Y
3 repeats

A1    A2    A3      ∆
0.027 0.987 0.097 0.007

UG000−6A_2

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s Y
3 repeats

A1    A2    A3      ∆
0.029 0.989 0.046 0.011

UG000−7A_2

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
PO 26s B
3 repeats

A1    A2    A3      ∆
0.043 0.894 0.059 0.004

UG000−8A_2

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s B
3 repeats

A1    A2    A3      ∆
0.059 0.821 0.052 0.004

UG001−1A_2

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
BM 26s R
3 repeats

A1    A2    A3      ∆
0.052 0.976 0.035 0.005

UG001−2A_2

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s R
3 repeats

A1    A2    A3      ∆
0.05 0.816 0.026 0.007

UG001−3A_2

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s G
3 repeats

A1    A2    A3      ∆
0.054 0.833 0.042 0.004

UG001−4A_2

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s A,Y
3 repeats

A1    A2    A3      ∆
0.039 1.003 0.066 0.007
0.029 0.989 0.046 0.011

UG001−5A_2

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s A,B
3 repeats

A1    A2    A3      ∆
0.039 1.003 0.066 0.007
0.059 0.821 0.052 0.004

UG001−6A_2

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s A,R
3 repeats

A1    A2    A3      ∆
0.039 1.003 0.066 0.007
0.05 0.816 0.026 0.007

UG001−7A_2

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s A,G
3 repeats

A1    A2    A3      ∆
0.039 1.003 0.066 0.007
0.054 0.833 0.042 0.004

UG001−8A_2

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
KR 26s A,Y
3 repeats

A1    A2    A3      ∆
0.024 1.026 0.077 0.005
0.027 0.987 0.097 0.007



UG000−7R

UG000−1A_3

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
KR 26s A
3 repeats

A1    A2    A3      ∆
0.036 0.924 0.017 0.005

UG000−2A_3

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
PO 26s A
3 repeats

A1    A2    A3      ∆
0.028 0.986 0.024 0.015

UG000−3A_3

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
BM 26s A
3 repeats

A1    A2    A3      ∆
0.035 0.964 0.023 0.011

UG000−4A_3

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s A
3 repeats

A1    A2    A3      ∆
0.041 0.877 0.015 0.008

UG000−5A_3

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
KR 26s Y
3 repeats

A1    A2    A3      ∆
0.039 0.949 0.014 0.013

UG000−6A_3

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s Y
3 repeats

A1    A2    A3      ∆
0.042 0.879 0.013 0.013

UG000−7A_3

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
PO 26s B
3 repeats

A1    A2    A3      ∆
0.064 0.892 0.011 0.004

UG000−8A_3

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s B
3 repeats

A1    A2    A3      ∆
0.062 0.808 0.011 0.003

UG001−1A_3

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
BM 26s R
3 repeats

A1    A2    A3      ∆
0.086 0.862 0.007 0.011

UG001−2A_3

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s R
3 repeats

A1    A2    A3      ∆
0.043 0.871 0.007 0.009

UG001−3A_3

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s G
3 repeats

A1    A2    A3      ∆
0.056 0.808 0.011 0.007

UG001−4A_3

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s A,Y
3 repeats

A1    A2    A3      ∆
0.041 0.877 0.015 0.008
0.042 0.879 0.013 0.013

UG001−5A_3

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s A,B
3 repeats

A1    A2    A3      ∆
0.041 0.877 0.015 0.008
0.062 0.808 0.011 0.003

UG001−6A_3

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s A,R
3 repeats

A1    A2    A3      ∆
0.041 0.877 0.015 0.008
0.043 0.871 0.007 0.009

UG001−7A_3

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s A,G
3 repeats

A1    A2    A3      ∆
0.041 0.877 0.015 0.008
0.056 0.808 0.011 0.007

UG001−8A_3

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
KR 26s A,Y
3 repeats

A1    A2    A3      ∆
0.036 0.924 0.017 0.005
0.039 0.949 0.014 0.013



UG000−7R

UG000−1A_4

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
KR 26s A
3 repeats

A1    A2    A3      ∆
0.029 1.006 0.48 0.004

UG000−2A_4

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
PO 26s A
3 repeats

A1    A2    A3      ∆
0.028 1.062 0.278 0.006

UG000−3A_4

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
BM 26s A
3 repeats

A1    A2    A3      ∆
0.047 0.939 0.29 0.005

UG000−4A_4

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s A
3 repeats

A1    A2    A3      ∆
0.041 0.909 0.317 0.008

UG000−5A_4

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
KR 26s Y
3 repeats

A1    A2    A3      ∆
0.112 0.684 0.303 0.01

UG000−6A_4

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s Y
3 repeats

A1    A2    A3      ∆
0.06 0.845 0.199 0.012

UG000−7A_4

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
PO 26s B
3 repeats

A1    A2    A3      ∆
0.022 1.114 0.339 0.002

UG000−8A_4

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s B
3 repeats

A1    A2    A3      ∆
0.009 1.459 0.419 0.001

UG001−1A_4

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
BM 26s R
3 repeats

A1    A2    A3      ∆
0.114 0.632 0.151 0.005

UG001−2A_4

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s R
3 repeats

A1    A2    A3      ∆
0.114 0.638 0.151 0.004

UG001−3A_4

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s G
3 repeats

A1    A2    A3      ∆
0.064 0.82 0.376 0.004

UG001−4A_4

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s A,Y
3 repeats

A1    A2    A3      ∆
0.041 0.909 0.317 0.008
0.06 0.845 0.199 0.012

UG001−5A_4

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s A,B
3 repeats

A1    A2    A3      ∆
0.041 0.909 0.317 0.008
0.009 1.459 0.419 0.001

UG001−6A_4

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s A,R
3 repeats

A1    A2    A3      ∆
0.041 0.909 0.317 0.008
0.114 0.638 0.151 0.004

UG001−7A_4

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s A,G
3 repeats

A1    A2    A3      ∆
0.041 0.909 0.317 0.008
0.064 0.82 0.376 0.004

UG001−8A_4

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
KR 26s A,Y
3 repeats

A1    A2    A3      ∆
0.029 1.006 0.48 0.004
0.112 0.684 0.303 0.01



UG000−7R

UG000−1A_5

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
KR 26s A
3 repeats

A1    A2    A3      ∆
0.024 1.026 0.077 0.005

UG000−2A_5

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
PO 26s A
3 repeats

A1    A2    A3      ∆
0.031 1.028 0.074 0.007

UG000−3A_5

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
BM 26s A
3 repeats

A1    A2    A3      ∆
0.037 1.069 0.05 0.009

UG000−4A_5

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s A
3 repeats

A1    A2    A3      ∆
0.039 1.003 0.066 0.007

UG000−5A_5

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
KR 26s Y
3 repeats

A1    A2    A3      ∆
0.027 0.987 0.097 0.007

UG000−6A_5

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s Y
3 repeats

A1    A2    A3      ∆
0.029 0.989 0.046 0.011

UG000−7A_5

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
PO 26s B
3 repeats

A1    A2    A3      ∆
0.043 0.894 0.059 0.004

UG000−8A_5

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s B
3 repeats

A1    A2    A3      ∆
0.059 0.821 0.052 0.004

UG001−1A_5

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
BM 26s R
3 repeats

A1    A2    A3      ∆
0.052 0.976 0.035 0.005

UG001−2A_5

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s R
3 repeats

A1    A2    A3      ∆
0.05 0.816 0.026 0.007

UG001−3A_5

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s G
3 repeats

A1    A2    A3      ∆
0.054 0.833 0.042 0.004

UG001−4A_5

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s A,Y
3 repeats

A1    A2    A3      ∆
0.039 1.003 0.066 0.007
0.029 0.989 0.046 0.011

UG001−5A_5

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s A,B
3 repeats

A1    A2    A3      ∆
0.039 1.003 0.066 0.007
0.059 0.821 0.052 0.004

UG001−6A_5

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s A,R
3 repeats

A1    A2    A3      ∆
0.039 1.003 0.066 0.007
0.05 0.816 0.026 0.007

UG001−7A_5

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s A,G
3 repeats

A1    A2    A3      ∆
0.039 1.003 0.066 0.007
0.054 0.833 0.042 0.004

UG001−8A_5

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
KR 26s A,Y
3 repeats

A1    A2    A3      ∆
0.024 1.026 0.077 0.005
0.027 0.987 0.097 0.007



UG000−7R

UG000−1A_6

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
KR 26s A
3 repeats

A1    A2    A3      ∆
0.036 0.924 0.017 0.005

UG000−2A_6

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
PO 26s A
3 repeats

A1    A2    A3      ∆
0.028 0.986 0.024 0.015

UG000−3A_6

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
BM 26s A
3 repeats

A1    A2    A3      ∆
0.035 0.964 0.023 0.011

UG000−4A_6

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s A
3 repeats

A1    A2    A3      ∆
0.041 0.877 0.015 0.008

UG000−5A_6

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2
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  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
KR 26s Y
3 repeats

A1    A2    A3      ∆
0.039 0.949 0.014 0.013

UG000−6A_6

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2
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−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s Y
3 repeats

A1    A2    A3      ∆
0.042 0.879 0.013 0.013

UG000−7A_6

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2
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−1
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  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
PO 26s B
3 repeats

A1    A2    A3      ∆
0.064 0.892 0.011 0.004

UG000−8A_6

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2
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−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s B
3 repeats

A1    A2    A3      ∆
0.062 0.808 0.011 0.003

UG001−1A_6

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2
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−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
BM 26s R
3 repeats

A1    A2    A3      ∆
0.086 0.862 0.007 0.011

UG001−2A_6

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2
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x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s R
3 repeats

A1    A2    A3      ∆
0.043 0.871 0.007 0.009

UG001−3A_6

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2
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x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s G
3 repeats

A1    A2    A3      ∆
0.056 0.808 0.011 0.007

UG001−4A_6

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2
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x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s A,Y
3 repeats

A1    A2    A3      ∆
0.041 0.877 0.015 0.008
0.042 0.879 0.013 0.013

UG001−5A_6

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2
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x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s A,B
3 repeats

A1    A2    A3      ∆
0.041 0.877 0.015 0.008
0.062 0.808 0.011 0.003

UG001−6A_6

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2
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x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s A,R
3 repeats

A1    A2    A3      ∆
0.041 0.877 0.015 0.008
0.043 0.871 0.007 0.009

UG001−7A_6

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2
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x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s A,G
3 repeats

A1    A2    A3      ∆
0.041 0.877 0.015 0.008
0.056 0.808 0.011 0.007

UG001−8A_6

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2
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  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
KR 26s A,Y
3 repeats

A1    A2    A3      ∆
0.036 0.924 0.017 0.005
0.039 0.949 0.014 0.013



UG000−7R

UG000−1A_7

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=630cd/m2
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x=logL

x y
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B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
KR 26s A
3 repeats

A1    A2    A3      ∆
0.029 1.006 0.48 0.004

UG000−2A_7

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=630cd/m2
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x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
PO 26s A
3 repeats

A1    A2    A3      ∆
0.028 1.062 0.278 0.006

UG000−3A_7

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=630cd/m2
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x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
BM 26s A
3 repeats

A1    A2    A3      ∆
0.047 0.939 0.29 0.005

UG000−4A_7

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=630cd/m2
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x=logL
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A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s A
3 repeats

A1    A2    A3      ∆
0.041 0.909 0.317 0.008

UG000−5A_7

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=630cd/m2
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x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
KR 26s Y
3 repeats

A1    A2    A3      ∆
0.112 0.684 0.303 0.01

UG000−6A_7

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=630cd/m2
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x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s Y
3 repeats

A1    A2    A3      ∆
0.06 0.845 0.199 0.012

UG000−7A_7

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=630cd/m2
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x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
PO 26s B
3 repeats

A1    A2    A3      ∆
0.022 1.114 0.339 0.002

UG000−8A_7

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=630cd/m2
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x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s B
3 repeats

A1    A2    A3      ∆
0.009 1.459 0.419 0.001

UG001−1A_7

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=630cd/m2
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x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
BM 26s R
3 repeats

A1    A2    A3      ∆
0.114 0.632 0.151 0.005

UG001−2A_7

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=630cd/m2
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x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s R
3 repeats

A1    A2    A3      ∆
0.114 0.638 0.151 0.004

UG001−3A_7

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=630cd/m2
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x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s G
3 repeats

A1    A2    A3      ∆
0.064 0.82 0.376 0.004

UG001−4A_7

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=630cd/m2
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x=logL
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R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s A,Y
3 repeats

A1    A2    A3      ∆
0.041 0.909 0.317 0.008
0.06 0.845 0.199 0.012

UG001−5A_7

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=630cd/m2
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R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s A,B
3 repeats

A1    A2    A3      ∆
0.041 0.909 0.317 0.008
0.009 1.459 0.419 0.001

UG001−6A_7

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=630cd/m2

−3 −2 −1   0   1   2
  0

10

20

30

40
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R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s A,R
3 repeats

A1    A2    A3      ∆
0.041 0.909 0.317 0.008
0.114 0.638 0.151 0.004

UG001−7A_7

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=630cd/m2

−3 −2 −1   0   1   2
  0

10

20

30

40

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s A,G
3 repeats

A1    A2    A3      ∆
0.041 0.909 0.317 0.008
0.064 0.82 0.376 0.004

UG001−8A_7

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=630cd/m2
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x=logL
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R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
KR 26s A,Y
3 repeats

A1    A2    A3      ∆
0.029 1.006 0.48 0.004
0.112 0.684 0.303 0.01



UG000−7R

UG000−1A_8

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=63cd/m2
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x=logL
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R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
KR 26s A
3 repeats

A1    A2    A3      ∆
0.024 1.026 0.077 0.005

UG000−2A_8

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=63cd/m2
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x=logL

x y
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B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
PO 26s A
3 repeats

A1    A2    A3      ∆
0.031 1.028 0.074 0.007

UG000−3A_8

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=63cd/m2
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x=logL

x y
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Y
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R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
BM 26s A
3 repeats

A1    A2    A3      ∆
0.037 1.069 0.05 0.009

UG000−4A_8

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=63cd/m2
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x=logL
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B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s A
3 repeats

A1    A2    A3      ∆
0.039 1.003 0.066 0.007

UG000−5A_8

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=63cd/m2
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x=logL

x y
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Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
KR 26s Y
3 repeats

A1    A2    A3      ∆
0.027 0.987 0.097 0.007

UG000−6A_8

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=63cd/m2
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x=logL

x y
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Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s Y
3 repeats

A1    A2    A3      ∆
0.029 0.989 0.046 0.011

UG000−7A_8

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=63cd/m2
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x=logL

x y
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Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
PO 26s B
3 repeats

A1    A2    A3      ∆
0.043 0.894 0.059 0.004

UG000−8A_8

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=63cd/m2
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x=logL
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R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s B
3 repeats

A1    A2    A3      ∆
0.059 0.821 0.052 0.004

UG001−1A_8

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=63cd/m2
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x=logL
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R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
BM 26s R
3 repeats

A1    A2    A3      ∆
0.052 0.976 0.035 0.005

UG001−2A_8

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=63cd/m2
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x=logL
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R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s R
3 repeats

A1    A2    A3      ∆
0.05 0.816 0.026 0.007

UG001−3A_8

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=63cd/m2
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0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s G
3 repeats

A1    A2    A3      ∆
0.054 0.833 0.042 0.004
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L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=63cd/m2
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0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s A,Y
3 repeats

A1    A2    A3      ∆
0.039 1.003 0.066 0.007
0.029 0.989 0.046 0.011
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L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=63cd/m2
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0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s A,B
3 repeats

A1    A2    A3      ∆
0.039 1.003 0.066 0.007
0.059 0.821 0.052 0.004

UG001−6A_8

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=63cd/m2
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40

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s A,R
3 repeats

A1    A2    A3      ∆
0.039 1.003 0.066 0.007
0.05 0.816 0.026 0.007

UG001−7A_8

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=63cd/m2

−3 −2 −1   0   1   2
  0
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30

40

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s A,G
3 repeats

A1    A2    A3      ∆
0.039 1.003 0.066 0.007
0.054 0.833 0.042 0.004

UG001−8A_8

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=63cd/m2

−3 −2 −1   0   1   2
  0
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40

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
KR 26s A,Y
3 repeats

A1    A2    A3      ∆
0.024 1.026 0.077 0.005
0.027 0.987 0.097 0.007



UG000−7R

UG000−1A_9

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2

−3 −2 −1   0   1   2
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40

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
KR 26s A
3 repeats

A1    A2    A3      ∆
0.036 0.924 0.017 0.005

UG000−2A_9

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2

−3 −2 −1   0   1   2
  0
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40

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
PO 26s A
3 repeats

A1    A2    A3      ∆
0.028 0.986 0.024 0.015

UG000−3A_9

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2

−3 −2 −1   0   1   2
  0
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40

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
BM 26s A
3 repeats

A1    A2    A3      ∆
0.035 0.964 0.023 0.011

UG000−4A_9

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2

−3 −2 −1   0   1   2
  0
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40

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s A
3 repeats

A1    A2    A3      ∆
0.041 0.877 0.015 0.008

UG000−5A_9

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2

−3 −2 −1   0   1   2
  0
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40

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
KR 26s Y
3 repeats

A1    A2    A3      ∆
0.039 0.949 0.014 0.013

UG000−6A_9

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2

−3 −2 −1   0   1   2
  0
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40

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s Y
3 repeats

A1    A2    A3      ∆
0.042 0.879 0.013 0.013

UG000−7A_9

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2

−3 −2 −1   0   1   2
  0
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40

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
PO 26s B
3 repeats

A1    A2    A3      ∆
0.064 0.892 0.011 0.004

UG000−8A_9

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2

−3 −2 −1   0   1   2
  0
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40

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s B
3 repeats

A1    A2    A3      ∆
0.062 0.808 0.011 0.003

UG001−1A_9

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2

−3 −2 −1   0   1   2
  0
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40

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
BM 26s R
3 repeats

A1    A2    A3      ∆
0.086 0.862 0.007 0.011

UG001−2A_9

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2

−3 −2 −1   0   1   2
  0
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30

40

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s R
3 repeats

A1    A2    A3      ∆
0.043 0.871 0.007 0.009

UG001−3A_9

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2

−3 −2 −1   0   1   2
  0
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30

40

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s G
3 repeats

A1    A2    A3      ∆
0.056 0.808 0.011 0.007

UG001−4A_9

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2

−3 −2 −1   0   1   2
  0
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30

40

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s A,Y
3 repeats

A1    A2    A3      ∆
0.041 0.877 0.015 0.008
0.042 0.879 0.013 0.013

UG001−5A_9

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2

−3 −2 −1   0   1   2
  0
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30

40

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s A,B
3 repeats

A1    A2    A3      ∆
0.041 0.877 0.015 0.008
0.062 0.808 0.011 0.003

UG001−6A_9

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2

−3 −2 −1   0   1   2
  0
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40

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s A,R
3 repeats

A1    A2    A3      ∆
0.041 0.877 0.015 0.008
0.043 0.871 0.007 0.009

UG001−7A_9

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2

−3 −2 −1   0   1   2
  0
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30

40

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 26s A,G
3 repeats

A1    A2    A3      ∆
0.041 0.877 0.015 0.008
0.056 0.808 0.011 0.007

UG001−8A_9

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2

−3 −2 −1   0   1   2
  0
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40

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
KR 26s A,Y
3 repeats

A1    A2    A3      ∆
0.036 0.924 0.017 0.005
0.039 0.949 0.014 0.013


